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1) Many times, attempts at deception are thwarted because of facial expressions.
A) irrepressible B) basic channel C) stereotypical
D) irresponsible E) stylized

Answer: A Page Ref: 84

2) Jack listened to a speech given by a local politician and found himself in a very positive,
up-beat mood afterwards, even though the politician was discussing some challenging issues
facing the community. The politician was in a very good mood while delivering the speech
because he had just won the election the day before. Jack's positive mood may be the result of

A) interchannel discrepancies B) intrachannel attributions
C) dispositional attributions D) automatic positivism
E) emotional contagion

Answer: E Page Ref: 84

3) There are five basic channels of nonverbal communications. These include
A) facial expressions, eye contact, body movements, posture, and touching
B) touching, eye contact, body movements, vocal tone, and facial expressions
C) body movements, facial expressions, posture, attributions, and vocal tone
D) body movements, posture, facial expressions, eye contact, and attributions
E) posture, facial expressions, eye saccades, body stillness, and touching
Answer: A Page Ref: 85

4) Joyce noticed that Jimmy, a fellow student in her social psychology class, was gazing at her
frequently during a lecture, but would look away after a few moments, then look back at her
again. Joyce can probably conclude that

A) Jimmy is angry with her

B) Jimmy likes her

C) Jimmy dislikes her strongly

D) Jimmy is overly shy

E) Jimmy is inattentive to the instructor
Answer: B Page Ref: 86

5) On her way to work one morning, Samantha was cut off by a driver who was weaving in
and out of traffic, tailgating slower moving cars, racing through yellow lights, and generally
driving rather erratically. According to recent research, Samantha should probably
because
A) stare the other driver down; she will become more aggressive towards others unless
she confronts the true source of her discomfort
B) slow down in front of the driver, if this can be done safely; this will allow the driver
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time to calm down and begin driving more safely
C) ignore the other driver completely, no matter what he does; the driver will eventually
turn his attention elsewhere
D) stare the other driver down; the driver will eventually turn his attention elsewhere
E) avoid making eye contact with the driver; the driver may interpret her look as an act of
aggression
Answer: E Page Ref: 86

6) Body movements that carry specific meanings in a given culture, such as the "thumbs-up"
motion (fist with an extended thumb pointing upwards), are known as

A) macroexpressions B) microexpressions C) signs

D) emblems E) symbols
Answer: D Page Ref: 87

7) Deborah has just spent a great deal of money on a new fur coat. When she showed it to her
husband, she asked if he liked it. Without hesitation, her husband responded by saying "Yes.
It is beautiful." Before he spoke, however, a slight frown appeared on his face for less than a
second. This might indicate that he is concealing his true feelings from his wife and is known
as

A) a macroexpression B) a microexpression

C) a discrepant interchannel D) a Freudian slip

E) a discounted attribution
Answer: B Page Ref: 89

8) In general, women are better than men at reading body language, in part because of
A) the way women are socialized in Eastern society
B) the stronger attentional abilities that women have
C) men's stronger ability to send nonverbal signals
D) contrasting gender roles in society
E) the way men are socialized in Western society
Answer: D Page Ref: 92

9) The process by which individuals seek to understand why others behave as they do is
known as

A) causal misdirection B) impression management

C) attribution D) social perception

E) nonverbal communication
Answer: C Page Ref: 92

10) Imagine that you see a friend arguing with a sales clerk in a store. You have never seen
your friend argue with anyone in public before. Therefore, you think that the clerk did
something to cause the argument. The theory that most directly explains how you reached
this conclusion is

A) the theory of discounting and augmenting

B) the inferential correspondence effect

C) the actor-observer effect

D) the theory of consensus consistency

E) the theory of correspondent inference
Answer: E Page Ref: 93
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